N = 0l & AF & F Al A

S A2 EHIE
M BMAIS DR

ciel: NS DS NESY (E9: @)
SN T BR(BH) - NRAY - BLS 03] &+ o ol o HRE2
A1 2 5} 766,892 769,871 A2,979
TS DS Y 5t 734,446 742, 168 AT,722
MBI DSDF2Y 226,458 209,990 16,468
S I e 191,675 173,070 18,605
201 st2 | 186,120 167,120 19,000
01 AtRZH2lHI 184,320 165,120 19,200
03 2944 184,320 165,120 19,200
>ZE2hEE ZASE 247 184,320,002 184,320 165,120 19,200
02 IS 1,800 2,000 A200
01 2322 2 HAl 1,800 2,000 £200
>DESIE A HYBE el
2 1,800,000 1,800 2,000 £200
202 Ofl 1,620 1,800 180
01 =LHoitl 1,620 1,800 A180
OF2er NS4 28 220/t
23 1,620,000 1,620 1,800 A180
206 THEH] 1,93 2,150 ~215
01 M2l 1,935 2,150 ~215
OF2t8t REM 2| 23 1,935,000 1,935 2,150 ~215
= Z01 052t Br 14,410 14,500 A90
202 01| 810 900 A90
01 =LHoit| 810 900 A90
O=Fol oRrer 2234 28 22 0fd|
23 810,002 810 900 A90
BUeysin 3,705 3,950 ~245
201 U2yl 3,300 3,500 £200
01 AtRZH2|Hl 3,300 3,500 £200
03 2944 3,300 3,500 £200
>BUS YDA BALY
23 3,300,000 3,300 3,500 £200
202 O4Hl 405 450 A45
01 =LHNHI 405 450 A5
OBLIS gstna 424 2F 22 0ft|
2 405,008 405 450 A5
MO AbEI Q1 DAl 6,048 6,720 £672
201 Lsr2 | 6,048 6,720 A6T72
01 AtRZH2|Hl 6,048 6,720 ~672
O3 2844 6,048 6,720 A672
>MLHDL AFSIQI DAL A S
T 6,048,000 6,048 6,720 ~672




© AlDI23IAIE
M YA FH e
A nEnE2E

M- B3 S2(3H) - MSAY - B2 arey pJE-1 {imE=Eh
BCH st 10,620 11,750 A 1,130
201 LEHRHH| 7,200 8,000 A 800
01 AtR2teldl 7,200 8,000 A800
O3 2d+H 7,200 8,000 A 800
DA S 2A=E Z& 7,200,000 7,200 8,000 A800
206 M= Hl 450 500 A50
01 THZHI 450 500 A50
OetitE=HM M=Hl Z& 450,000 450 500 AB0
301 utEa=s 2,520 2,800 A 280
10 SAIRHIENS 2,520 2,800 A 280
OetOtS=H Atal A+ 24 Z& 270,000& 270 300 A30
O&H st stitEs=N 28 243
2& 2,250,000 2,250 2,500 A 250
dAlgl 2 ZHE3Z N 2,520 2,800 2280
SAl2 & HEel, AIHS], HHALS 2,520 2,800 A 280
202 OdHl 810 900 290
01 =WoHI 810 900 A90
O&Alal, 2H3|, NSRS, BtAt2 HRFE
04 8l %é 810,000& 810 900 A0
206 THZHI 1,170 1,300 A130
01 THZHI 1,170 1,300 A 130
OXASEAE M=l 23 720,000 720 800 N80
OXBLHES M=H| d&d 450,000 450 500 AB0
301 erEA= 540 600 260
10 AL HIE& = 540 600 AB0
ONZLHI Atzlkt 24 Z & 540,000& 540 600 260
wnSALes 2 FHH| 505,468 529,378 A23,910
EMAIE R X 2] 505,468 529,378 A 23,910
201 LEHRHH| 101,908 109,878 AT,970
01 A2l 32,590 35,100 22,510
O1 Let=2H| 990 1,100 A110
>DEY3 HA & & 540,000 540 600 AB0
DEsE HA Z & 450,000& 450 500 A50
O1 et=2H| 28,900 31,000 A2,100
DHEAOIEN HE Y2EAX
Z& 18,900,000 18,900 21,000 22,100
OSMYEHZ 22T S
Z& 1,800,000 1,800 2,000 2200
OSHYRY OIRYENE X
Z & 900,000& 900 1,000 A 100




A AlRI23HE
M HMASI DS
ol WSAIdEEs 2 Y CER:E
A -3 -H2A(SH) - HEAMY - BES O AFH J| & oK Hos
02 =2=2gHtl 69,318 74,778 Ab5,460
O1 2222 & HA 18,360 20,400 A2,040
DEIIRS 28 14,040,000& 14,040 15,600 A 1,560
D a3 48 4,320,000 4,320 4,800 A480
02 A=zl 19,098 21,218 AN2,120
DUsESHHEH &I 2E94d A=
&8 14,607,000& 14,607 16,229 A1,622
DUSSSMEH 24824
28 1,827,000 1,827 2,029 AN202
DLURE IIAMNES 2% 864,000& 864 960 296
>Eef statAl2 Z2& 1,800,000& 1,800 2,000 A200
O3 A8 & dl =Xl 31,860 33,160 A 1,300
DOIAHL EII &Yl Al EEl Rl
28 4,950,000 4,950 5,500 AB550
>AE KX Z23& 5,400,000& 5,400 6,000 A600
DUKEINNMN FANE(FRH, 24
& ZHIS) 28 1,350,000& 1,350 1,500 A150
206 M=l 3,150 3,500 A 350
01 TZ 4l 3,150 3,500 A350
OA%E (¥ xg, JIHaE) 2 & 900,000& 900 1,000 A 100
OXII M= (EZHIL 85)
438 1,350,000 1,350 1,500 A150
OJIAA A2 (2LEHS 88)
Z2 & 900,000& 900 1,000 A100
401 A &HIZ20YI 59,830 62,000 AN2,170
04 Al&HI 59,830 62,000 A2,170
OFAOI &0 E Ecteld &X
48 48,250,000& 48,250 50,000 A1,750
OZHIZLIHAEX] Z2 & 11,580,000& 11,580 12,000 A420
405 THAHH SHI 340,580 354,000 A18,420
01 AL ESFHSHI 340,580 354,000 A 13,420
O=2M =Z ANIE W=
38 2,910,000& 2,910 3,000 A90
oz Z2%& 970,000& 970 1,000 A30
OFAOIEN E &I 2 & 336,700,000 336,700 350,000 A 13,300
HE 2L ZHI(AYUZSHHEH) 32,446 27,703 4,743
ol 2HH| 16,886 16,903 A7
ol 2| 16,886 16,903 A7
203 SR F&H| 3,463 3,480 A7
02 JRAIIHRFEHI 463 480 A7
OF AR F=&| A& 463,000 463 480 A7




AN ABEZ3HH
M HH2IZHI(AI2SHHE)
el Jl=3sl (el &)
SNBSS - MBAY - BES 0 & 24 pJE-1 {imE=Eh
Jl=2dHl 15,560 10,800 4,760
Jl=&Hl 15,560 10,800 4,760
201 LEHEEH| 14,750 9,900 4,850
01 ArR2eltl 14,750 9,900 4,850
O1 et=2H| 13,400 8,400 5,000
>EA2EI Z & 13,400,000& 13,400 8,400 5,000
O5 =&l 1,350 1,500 A 150
DOt 522 R Z& 1,350,000 1,350 1,500 A 150
202 O4Hl 810 900 A90
01 LY 810 900 A0
OJl=g =304l Z & 810,000& 810 900 A9




